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5. 9 U9y ¢ @vel i & _ wug-g O This question booklet is divided iny,

two sections — Section-A and
Ud GUs-4/ Section-B.

6. @US- H soaﬁﬁg gy & e 6. In Section-A there are

s S §) aft el o 50 CWective tpe questions autof
lwhich 40 questions are compulsory,
i Fe & IE /e 8, i If the candidate answers more rhan'
w40 Il @ @ qo farar 40 guestions, the first 40 answers
ST dE ST & o 1 HE only will be evaluated. Each
feifea &1 ) WWWOMRW question carries 1 mark. For.

rEED foweq 1
7 '%U ™ el _ ' circle given on the OMR answer
Hret/iet /et 97 & wl feet o sheet with black / blue ball pen,

UFW & E@IEAY / A U / Do not use whitener / liquid
&g / TG AT FT OMR FH7- material / blade / nail etc. on
UFE ¥ gaT TEF & =T g ‘the OMR answer sheet otherwise

qRoTT SHT g 1 o
invalid.

- GuE-§ § amifas AT & s /- In Section-B there are Short
_ . Answer Type questions .o
N W ¥ 7y I 5 2 5 subjects of Soci&l Science. Eac,:
e %‘%T,T 2 3 e &1 question carries 2 marks.
sfere 7 6 g IR g ( O.Nos. History has 6 Short Answer Type
_ . _ _ questions (Q. Nos. 1 to 6) out of
19 6 & f7d @ fegt 3avat &

v @ & answered.
TFT AT o 479 ITT v Political Science has 4 Short

( . , 1 Answer Type questions (Q. Nos.
Q Nos. 9F 12) ¢, q 9 to 12) out of which any

20vH & Iy 7 & 2 questions are to be answered.

answering these darken the correct

the result will be treated

which any 3 questions are to be
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spived W 4 T IWF ged
(0. Nos. 15 § 18 & Fmd @
faret 297 & w33 & |
i # 67 IWIT ¥ (Q. Nos.
21 @ 26 £ 7 @ et 3 wvat
& I 3T &1
mwﬁ4ﬁ'§:3ﬁﬁq-m
(Q. Nos. 29 @ 32) &, 74 & far=g1
2wyl & Fav & 1

s/ HfR® 8 9 Iod 5

(. Nos. 7, 8, 13, 14, 19, 20, 27, 28)
¥ g gvT & w4 A& iR

¥ sfigra, TN e, e
va srier A Fedw § -0 HE FI

3¢ o 2

o Frt TR & soeitE guwer @1 O

s e afere 8

(111]
Economics -has 4 Short Answer

Type qguestions (Q. Nos. 15 to 18)

out of which any 2 questions are

to be answered.

Geography has 6 Short Answer
Type questions {Q. Nos. 21 to 26)
out of which any 3 questions are

to be answered.

Disaster Management has

4 Short Answer Type questions
(Q. Nos. 29 to 32} out of which any

2 questions are to be ariswered.

Apart from these, there are 8 Long
Answer Type questions (Q. Nos. 7,
8 13, 14, 19, 20, 27, 28). Each
question carries 4 marks. One Long
Answer Type question each from
History, Political Science, Economics

and Geography is to be answered.

Use of any electronic appliances 1s

' strictly prohibited.
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G ug - A /| SECTION - A

THfTS U / Objective Type Questions

oYy 9EAT 187 80 A% & udw Wy & @y 9n faweq v 1w &, faed 7 v
wet &1 a9 gnT g7 v w@E fweT H OMR WiE W Rifgqw &1 3w
40 wvl & § Fav ¥ | 40x1=40

Question Nos. 1 to 80 have four options each, out of which only one is
correct. Mark your selected option on the OMR sheet. Answer any
40 questions. 40x1=40

1.  9Ra ¥ T g Y o feees g & S 8 2
—(A) *PH wifesdh sEiem (B) A9 HETW
() Hifq Fmam (D) g fopr ufeg
National income in India is calculated by which of the following ?
(A) Central statistical office
(B} Planning Commission
(C) NITI Aayog

(D) National Development Council

5 Hefae @ &1 A0 gede rEaTd) e fead faam 2

A @ (B) g
) wiem (D) fare
Who changed'the name of Bolshevik Party to Communist Party ?
(A) Lenin (B) Trotsky
(C) Stalin (D) Bismarck
3. @M fevem # Fa g e man a1 2
(A) 1904 (B) 1905
(C) 1907 (D) 1911
( SS/A/612 Page 4 of 32
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When was the partition of Bengal annulled ? .

(A) 1904 | B) 1905
{€C) 1907 (D) 1911
4. e e ) B A Read e 6 2
(A) BwwA e (B) e

(C) wdta wef o (D) & WS
Which of the following was founded by Lala Hardayal ?
: (A] Home Rule -League-
(B) Ghadar Party
(C) Communist Party of India
(D) Brahmo Sama;j
5. WRA ¥R AfuFEw, 1919 #t f6a 3 7w 3 ft S st g 2
A werAERR R (B faw
(C) 3o Ropel wvm n) e fie
What is the angther name for Government of India Act, 1919 ?
" (A) Montague-Chelmsford Reforms
(B) Ilbert Bill.

(C) Indian Statutory Commission

(D)  Nehru Report
6.  iEe vrdrd gfean wfin i v feed 6 o

(A) Tigme 3relt e B) SR v
(C) 7o FIPE @M (D)  Hrenre swres
[ SS/a/612 | —
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Who founded the All India Muslim League ?

(A)

(C)

(A)

(€

Mohammad Ali Jinnah (B) Zakir Hussain

[ 111

Nawab Salimullah Khan (D) Muhammad Ismail
7. it fameam d S1aiieE 6 R e o | feadh) guds ot 2

== (B) - &
wE (D) g

The government of Bao Dai in South Vietnam was a supporter of

which of the following ?

(A)

(€)

China (B Spain

France (D)  Portugal

8. mﬁﬁmaﬁ%&ﬁmﬁﬁm?

(a) «f B) o T R
(C) wiem (D) glewh
Who abolished Serfdom in Russia ?
(A) Lenin | . (B) Czar Alexander II
(C) Stalin (D) Trotsky
() v werm et fog W A v e T o 2

(a) TR (B) =i
© fegme (D) e
Where was the first hydropower plant established in India ?
(A) Gangtok (B) Darjeeling
(C) Dibrugarh (D) Calcutta

SS/A/612 Page 6 of 32
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10. Tﬂﬂﬂmmmﬁmﬂﬁmﬁqﬂ.mﬁ?

A SR (B) M-Il

€ SRV D) S

Kutch region of Gujarat [al]é in which seismic zone ?

(A} Zonel B  Zone-Il

(C) Zone-1V (D)  Zone-V
11, T 461 = S = 9w’ waT S @ 2

(A) T I

(©) (D) &g

Which river 1s called the 'Sorrow of Bengal' 7

(A)  Ganga (B) Damodar

(C) Kosi (D) Brahmaputra
12, WRa 6 ga¥ 991 FOm ofic HH 2 2

(A)  TIifag AP (B) Ud HPR

(©) wwER B (D) oM AR

Which is the largest artificial lake in India ?

(A)  Govind Sagar (B} Pant Sagar

(C) Sardar Sarovar (D)  Krishna Sagar
13, wwaE oy fRg 9 WEAIR ?

@) e Td@ (B) F&A

(€ s Tl (D) A
(ss/a/612 | Page 7 of 32
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On which river is Aswan Dam built ?
(A)  Nile River (B) Brahm

(C) Amazon River (D) Ganga

| 111

aputra River

River

14. QOIIﬁW@ﬁﬁWﬁ%ﬁﬁﬁ?WW?

(A) ¥YH (B) ety
(C) T (D) =gy
What was India's position in the wc..-r]d n
2011 7?

(A)  First (B) Second
(C)  Third (D)  Fourth

15. WA %8 J gaEne g e & g g @

terms of population in

(A) 9Tk SISREHS (B) HEAHI TASHENL

(C) aftr SeswEny (D) gﬁgmm?

By which strait is India separated from Sri Lanka ?

(A) Palk Strait (B) Malacca Strait
(C) Bering strait (D)  Hormuz strait

16. M ACH H G TAIG &1 1 FEA 8 2

A ~{B) R

(€) T (D) T & w7
What is the old alluvial soil of Ganga plain called ?
(A) Khadar (B) Bhangar
(C) Regur (D)  None of these

LSSMQ_I Page 8 of 32
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frfafad o & 19 svq =g a1 7

() A B) i

) foems (D) foreet iqEe

Who among the following was the German Chancellor ?

(A)  Mazzini (B) Hegel

(C) Bismarck (D)  Victor Emmanuel
18, 7UeH H ifd Fa g oA ?

(A) 1789 (B) 1821

(C) 1839 (D) 1917

When did the Naples Revoiu:ti’(jn. h'.appen ?

(A) 1789 - (B) 1821

(C) 1839 (D) 1917
19. AT AHTSETE HI T fhd AM S1d1 8 2

(A)  Ena —=By— HTel A

() ¥ g (D)~ wIiéT ¥

Who is considered the féther of scientific socialism ?

(A)  Hegel (B)  Karl Marx

(C})  Saint Simon (D) Martin Luther
20. T g e Fer-u-fie ) iy € g off

(A) ATy A __(B) - HETemy i

(C) ¥R TR (D) Grgme sl
[587A7615 | |
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Who among the following was given the title of Kaiser-i-Hind ?
(A)  Rabindra Nath Tagore (B) Mahatma Gandhi

(C)  Shankaran Nair (D)  Surendra Nath Banerjec

21. - FE R 8 fPw e 6 yeam o w’ & g o
(A) W e SRER @)y e seier
(C) ¥Wd BIEI 3=Erer (D) faciiwa <o
Which of the following movements started with 'Dandi March' ?
(A)  Civil Disobedience Movement
(B) Non-Cooperation Movement
(C)  Quit India Movement
(D)  Khilafat Movement

22. 39d SR Uit fohe w1 1 aHEN 9T o1 ?

(A) &= (B) e

(©) wd (D) T

| Amrit Bazar Patrika was the newspaper of which language ?
(A) Hindi (B) Bengali
(C) Marathi (D)  Guarati

23, ‘sifae IR 35 YRR HIE E LA FHE ES P

(A) 1848 | (B) 1881
(C) 1885 (D) 1920

When was 'All India Trade Union Congress' established ?

(A) 1848 (B) 1881
(C) 1885 (D) 1920
[ss/a/612 | o Page 10 of 32
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~ Qifyud w9 ® fue w9 g 2

2

£

(A) 1985 (B) 1991
) 1968 (D) 1990

When did the Soviet Union disintegrate ?

(A) 1985 (B) 1991
(C) 1968 (D) 1990
25. HEH Tl UL AeWPl B & ?
(A)  TENE Semm-1 B) ¥ JeHr-2
(C) U¥™ Wemwi-3 (D) TS Jemri-4

Which is the longest National waterway ?

(111 ]

(A) National Waterway-1 | (B) National Waterway-2

(C) National Waterway-3 (D) National Waterway-4

6. |G 99 Wd INARUT El feud 2 ?

(A) 3t (B) WERTY

(C) TS | (D) SRS
Where is Sariska Wildlife Sanctuafy located ?

(A) Odisha (B) * Maharashtra
(C) Rajasthan (D) Karnataka

27.  &m wam] fga waa el @ @ 2

(A) @ (B) FHAIEF
() & (D) 3N
Where is Kaiga Nuclear Power Plant located ?
(A) Tamil Nadu (B) Karnataka
(C) Kerala (D)  Uttar Pradesh
[ Ss/A/612 | Page 11 of 32
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[ 111
28.  9NA § WA 8 % R 3ot aienw g w1 wWOR § 2
(A) 18 (B) 20
(€C) 23 D) 25
How many public sector oil refineries are functioning in India ?
(A) 18 (B) 20
(©) - 23 - (D) 25
29 R T forsa F fhm A & sk e @ 0
(A) v (B)  ®Fal e
(C) el (D) #HH e
By which name is Brahmaputra river known in Tibet ?
(A)  Jamuna river (B)  Tsangpo river
(C)  Yangtze river (D)  Manas river
30. Wﬁwﬁmﬁasﬁmmaﬁq%?
(A) =0 (B) MM
) fexgme (D) =i w1
Which is the oldest oil reflining unit in India ?
(A) Barauni (B} Jamnagar
(C)}  Dibrugarh (D) Bombay High
31. Fm=fafas & & «F dvr waet & 7
(A) =g (B) g
(C) T —D) M ¥ 3+
Which of the following is a plantation crop ?
(A} Tea (B) Rubber
(C)  Sugarcane (D) All of these
[S8/A7612 ]
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3. w8 R G & o e f 2

) R (B)
() ~py FRferm
Natural gas is found with which mineral ?
(A) Uranium (B) Limestone
(C) Coal (D)  Petroleum
33, fugn ¥ e «1 g da w2
A P B) @
(C) =AM (D) W &t
What is the main source of livelihood in Bihar ?
(A)  Agriculture (B)  Industry
(C) Trade | (D)  All of these
3. P & T st At T & 2
a) PN (B ®W
() T | (D) uieEd
-%ich of the following 1s not an cconpmic activity ?
(A)  Agriculture (B) Communication
(C) Poverty | (D) Transportation
35. Tz &1 Wit % @ g ?
(A) T ¥ EH (B) WA H] FEATH
(€ fafma @ mem —D)  (A) 3 (C) T

What is the primary function of money ?
(A)  Store of value (B) Transfer of value

(C)  Medium of exchange (D)  Both (A) and (C)

| SS/A/612 ]

_ Page 13 of 32
https://www.bsebstudy.com


https://www.bsebstudy.com/

[ 111 |
36. T i B el o yem W 2
A wuftw R ww eRfs B iy Rew 39
C) wifnfous §% (D) ¥ & FE T
Which of the following provides long term loans ?
(A} Primary Agricultural Credit Society
(B) Land Development Bank
(€}  Commercial Bank
(D)  None of these
37. ﬁm-ﬁf@rwﬁt—mﬁ%mﬁmmm% ?
(A)  f —my— fam
€ i (D)  ®=W
Which of the followiﬁg is a part of non-economic infrastructure ?
(A) Finance (B)]  Education
(C}  Energy (D)  Communication
38. aﬁaﬁwﬁswﬁmwﬁﬁﬁéﬁﬁ%ﬁa,ﬁmﬁﬁ%ewﬁﬁvm
&I 2 2
(A)  Gh (B) iR
(C) =m D) T @
As .a result of globalization, which of the following has
uninterrupted flow among different countries ?
(A)  Capital | (B) Technology
(C)  Labour (D) All of thege
LSS/A/612 ]
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111
TR g TS Bhana W smEvas el o wfqeul ®1 FE

39
| FEAT 8 ?
(A) Tl B) fafrm
(C)  FErH (D) vt
What is the removal of unnecessary controls and restrictions on
economic activities by the government called ?
(A) Privatization (B) Disinvestment
(C) Liberalization (D)  Globalization
40. I T W & ged @1 @faqid ulE | Fie 4 s g9 W Syl HEl
fred T gFar 8 ? |
a) e s (B) T=T TN
(C) TEH M _ (D) wwEwh
Where can a consumer complain if the value of the goods or service
or the compensation amount exceeds Rs. 1 crore ?
(A)  District Forum (B) State Commission
(C) National Commission (D) All of these
41. GEH HEA B YHR B @ ?
(A) R (B) fomrse
A TS - (o) faghrm
Which is the best type of coal ?
(A)  Peat (B) Lignite
(C) Anthracite (D) Bituminous
42, FIvE T AWIRTI FEl a8 ?
(A)  FE (B) QO
(C)  HTTeTd (D) A ®HA.
| SS/A/612 Page 15 of 32
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2
Where is Kusheshwar Sthan Sanctuary located

(A)  Morena (B) Darbhanga

(C)  Bhagalpur (D) Nandan Kanan
43. B e wa A w2 o

(A) TR B) ¢ &3

(©) . g & (D) 398 @ |

Where is contour ploughing done ?
(A)  Plain area (B)  Coastal area

(C)  Mountainous area (D) All of these

44, mﬁﬁ@q—mawmﬁm&agmﬁn ?
(A)  wem B) fada
(€) T (D)  =gd
Which Earth Summit was held in Johannesb:urg ?
(A) First (B) Second
(C)  Third (D)  Fourth
45.  qhett fow wR 6 wEer 2 o
(A) T (B) wiw
AC) e D) T A Fd 7
What type of Crop is peanut ?
(A)  Rabi (B)  Kharif
(C}  Zaid

(D) None of these
6. Wmﬁﬁﬂﬂwaﬁqnﬂq%p

ss/azera T
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[111 ]

what is the rank of Bihar in the production of vegetables ?

(A)  First (B) Second
(C) Third (D)  Fourth
a7, e whaton et fer 2 7
(A)  Hram (B) MM
L (D) UgaH
Where is Bagmati project located ? ,
(A)  Sitamarhi (B) Darbhanga
(C) Saran (D) Rohtas
48. 2011 ® SR F ER FER ¥ fhw R ¥ SHEEN A wed
AUF B ?
A) TmEm (B) ¥
© L (D) e
According to census 2011, which district of Bihar has the highest
density of population ?
(A) Sheohar (B) Patna
(C) Kaimur | (D) Nalanda
49. Tt i Fgfe w9 @ g 2
{A)  wumEt (B)  Tg9id
(C) wewh (D) &
Who appoints the Governor ?
(A)  Prime Minister (B)  President
(C)  Chief Minister (D)  Chief Justice
50. @k Fwiis aidl w1 aa frad foma o
(A) T faem T (B) wemm fig
() - wrefm (D) g Areq
(Ss/ae12 ]
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Who formed Lok Janshakt; Party ?
(A) Ram Vilas Paswan (B} Mulayam Singh

({C)  Kanshi Ram (D) Sharad Yadav

51, ﬁmﬁmmﬁ%ﬁmﬁf&rﬁﬁ%ﬂmmﬁwm
a2 -

(A) 2wHmE (B} o©HrmE

(C) 1 a4 (D) 19RE

In case of dissolution of Panchayati Raj institutions, at what time

interval is it mandatory to hold elections ?

(A) 2 months (B) 6 months
(C)  1vyear (D) 1 month
52 MWﬁmﬂWWWWMW?
(a)  faga (B) 3w
(C) ArTRvg (D)  3UTNA Wy
Meghalaya was formed from which state ?
(A)  Tripura (B) Assam
(C)  Nagaland (D) Arunachal Pradesh
53. UM %Iwll 1 3um B g @ 2
(B) =g (B) e afie
(C) =g fim (D) Hfgan

Who is the head of the village court ?
(A) - Sarpanch (B}  District Magistrate

(C)  Nyaya Mitra (D) Mukhiya

LS5/A/612 ] Page 18 of 32
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E o= B @ 68 Q1 TR W e 2

@ e e (B) %™
€ =M D) T F o
Which of the following countries has a Unitary Government
system ?
(A)  Great Britain (B) France
(C) China (D)  All of these
55. T @ =1 g aqg € ? »
(A) e widia feenel aitwe (B) s sivEa g3 IfEA FOE
(C) WG U %md (D) U¥E @d ¥9% GY

Which of the following is not a pressure group ?
(A)  Akhil Bharatiya Vidyarthi Parishad (ABVP)
(B)  All India Trade Union Congress

(C) Indian National Congress

(D) Rashtriya Swayamsevak Sangh
S6. fas s 2 fpu U9 @ YA § ?

(A) TeER (B) HREUS
(C) ifgm (D) TEETG
Biju Janata Dal belongs to which state ?
(A) Bihar (B) Jharkhand
(C) Odisha (D) Chattisgarh
57. @Hhd Tie INE H R &3 w1 ArgH w=ilvE 8 2
(A) St & _B) fodfrs a3
(€) i & (D) T & F§ TE
| S8/A/612 | Page 19 of 32
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flll]

Which sector contributes the most to Gross Domestic Product ?

(A} Primary sector (B)  Secondary sector
(C)  Tertiary sector (D)  None of these
58.  TH I frwn el et 27
(A)  wEhll g afafy (B)  Iuvim ey sy
(C) u=Ed W (D) 3 @ weft
Which of the following has a three-tier structure ?
{(A)  Co-operative credit society
(B) Consumer Protection Act
(C)  Panchayati Raj
(D) All- of these
59. ﬁ%ﬁﬁ%@ﬁ@mwnﬂwﬁﬁqﬁ%?
(A)  GDP (B) GNP
(C) NNP (D) s & wft
Which of the following does not include the value of depreciation ?
(A)  GDP (B) GNP
(C) NNP (D) All of these
60. WRdN e guri # ot e fvam mar 2 o
(A) el (B) T
(C) Azl (D) & F mff
| SS/A/612 Page 20 of 32
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[111]
B

which of the following is included in Indian economic reforms ?

(A)  Liberalization (B) Privatization
() Globalization (D)  All of these
ol G 1 i w0 R 2
____'.--"
(A) < (B) u
(C) == (D) fulsm

What is the remuneration of capital ?
(A} Rent (B) Wages

(C) Interest (D) Mixed income

60 Frafafisa # A frg @ufs &6 @@ qag $9 8 ?

-

(A)  HA (B) ST

(C) 3=« Tl (D) d& I

Which of the following assets has the least liquidity ?

(A) Currency (B) Bond

(C) Real estate (D) Bank deposit
63. FETE U FI9T Fd IE &8 ?

(A) 1988 (B) 1989

(C) 1990 (D) 1991

When did Jawahar Rojar Yojana start ?

(A) 1988 (B) 1989
(C) 1990 (D) 1991
L Ss/a/612 | Page 21 of 32
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64. ﬁnﬁammmmﬁwﬁmﬁﬁ%ﬂm%m

8 g3 o1 »
(A} I 3 (B) Uy fawpr dftag
C) F=rd (D) T §MIR

Which of the following was formed with the aim of ensuring

participation of states in economic planning ?

(A)  Planning Commission (B)  National Development Counci]

(C)  NABARD (D) Money Market
65. fﬁ’mﬁmaﬁ@rzﬁmﬁaﬁm%ﬁ?

A) T EhEEE (B) T Fad

(©) & e (D) =gt o

Who planned the main stréets of Paris ?

(A) Baron Haussmann (B] Ebenezer Howard

(C) Le Corbusier | (D} Samuel Crompton

66. TS 3 W 3t B e wa 6 o

(A) TR (B)  EHgETg
(C) ¥ (D) TEIgu
Where did Gandhiji establish Sabarmati Ashram ?
(A)  Gandhinagar (B) Ahmedabad
(C)  Surat (D) Vadodara
67. HIM & I A fonwrehl wrera g€ of
(A)  wHE By S
(S ) (D) wm

S3/A/612 | Page 22 of 32
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B

[111]
who was defeated in the battle of Sedan ?
(A) France (B) Germany

(C) Austna (D)  Prussia

o P il Fred 3 3w A o & A am R o 2
(a) AR B) uahm
) foemd Dy W
Who among the following introduced compulsory military service in
his country ?
(A)  Mazzini (B) Metternich
(C) Bismarck (D) Lenin
60. W B g e aw & greten R i ga g o 2
(A)  gewer (B) TWHE
€ ¥ (D) =
Which ruling dynasty in France was restored by the Congress of
Vienna ?
(A) Habsburg (B)) Romanov
(C) Slavic (D) Bourbon
70.  nfe feem fRefi R 0
(A) i wIfa (B) & wifd
(C)  FRh sHifd D) ¥ oft
Whose contribution is economic planning ?
(A)  French Revolution
(B) Russian Revolution
(C)  American Revolution
(D) All of these
| SS/A/612 |
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72.

73.

74,

| SS/Af6I2 T _—

[ 111

IR H Fdvm nyfi g w93 ) e e i 1 o
(a)  §@ B) aw
(C) et (D) HEWeEER
Where was the first modern cotton mill established in India ?
(A)  Surat (B}  Bombay
(C)  Calcutta (D)  Ahmedabad
B-<fi-firg @t w1 wmE o7

Ay w0 fagaam (B)  gitroft faaaag
(C) s (D)  wm=fem
Ho Chi Minh was the ruler of which country ?
(A)  North Vietnam (B)  South Vietnam
(C) Laos (D)  Cambodia
AeFH TS Fal wenfig g3 7
(A) T (B) I wew
(C) fozw (D)  wEmy
Where was Shetkari organization established ?
(A)  Rajasthan (B)  Uttar Pradesh
(C) Bihar (D)  Maharashtra
?3mﬁéuﬁ$#ﬁmﬁmﬁﬁ%@ﬁa’fﬁﬁ% ?

A AT T (B)  Fmuiferes
(C) watw =Ty (D) wgafa
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. : of the
73rd Constitutional Amendment is related to, which

following ?

(A) Panchayati Raj (B) Municipality

(C) Supreme Court (D)  Election of President
75. U TGS AW, 1953 1 e fnaeh sreeran H g ?

(A) A e (B) FTER TgUHTE e

(C) HrEh 3| | (D) Tl SgTg S

Under whose Chairmanship was the State Reorganization
Commission formed in 1953 ?

(A)  Fazal Ali (B) Sardar Vallabhbhai Patel
(C)  Morarji Desai (D) Lal Bahadur Shastri
76, T A 4 fow we d TR-fm B e g R o
(A)  WTTETYL (B)  TITERTS
(€) e (D) g
In which of the following cities has municipal corporation been
already established ?

(A)  Bhagalpur B)  Gopalgan;

(C) Sitamarhi

(D)  Rohtas
77, Tfel § & Sl Wi v o 7 2
—A)  wma B) =

© = D) W T R

Which of the following does not have a fed

eral system of
government ?

(A)  India (B)  China

(C)  Spain (D) United States of America
——
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78. Fo il fw fava 9 Tou o & T 2 2

A B) I
(©) firend (D) & & @i
‘Which of the following subjects has been placed in the State List »
(A)  Agriculture (B) Police
(C) Irrigation | (D)  All of these
79. wmﬁsﬁwﬁ%ﬁwmé?
(A) 15 (B) 22
(© 25 (D) 21
How many languages are included in the Eighth Scheduie of the
Constitution of India ?
@A) 15 | ®) 22
(C) 25 -[D] 21
80. TSHId® T # T s BT ke w2 o
(A) W ETFR . (B) v wfygm
€) T I (D) gy
Who allots election symbols to political parties ?
(A)  Government of India (B) Cﬁnstitution ol India
(C)  Election Commission ~ (D) President
| SS/A/612
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B 111
QYT - §¥ / SECTION - B
3TET / History

19 IHIT AT / Short Answer Type Questions

T FE 16 6 7% 7Y 3T &1 579 @ et 3 qvl & gwv &1 wRiE g &
fre 2 3w freife &1 3x2=6

Question Nos. 1 to 6 are Short Answer Type Answer any 3 questions.
Each question carries 2 marks.

1. Uagfaes wifaware @ a9 w0 o §

What do you understand by Historical Materialism ?

L 2.— % 3R ER-9F % sutEw s W wifvs v w0

Ix2=6

What was the initial objective of France to colonize Indo-China ?

3. Tufew afiiss At w1 vl Ff w w9 »

What impact did British economic policies have on Indian

agriculture ?
4. RAWE THE SO hi e fe ol F g o

Under what circumstances was the Indian National Congress
established ?

5. ‘it nemerfiy’ fifq 1 seeram frae ok =1 fvg o

Who adopted the 'golden middle class’ policy and why ?

J—

b o s = w1 I8vg w1 P

What was the purpose of the Vienna Congress ?

e
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B [ 111

e IWIT W / Long Answer Type Questions

T AT 7 3k 83 gy 1 g @ feet vw @ 3w &1 w0 & Py
4 3F fFuifea #)

1x4=4

Question Nos. 7 and 8 are Long Answer Type. Answer any one of them,
Each question carries 4 marks. I x4=¢4

7. memﬁmwﬁwuﬁw%ﬁm%?ﬁ%ﬁmﬁr

How nationalism is the result of political awakening in the modern
world ? Discuss.

8. wﬁﬁauﬁaaﬁmﬁrﬁiﬂsﬂaﬁi@mw|

Explain the role of Gandhiji in the Indian National movement.

NI CRCRIC] / Political Science

™Y I9T UST / Short Answer Type Questions
WY WG 9 W 12 7% 7 390 &1 30 & faet 2w & gy 1wl gv

& forw 2 3w Freffea & 2x2=4
Question Nos. 9 to 12 are Short Answer Type. Answer any 2 questions.
Each question carries 2 marks. 2x2=4

9. UY fam Mm% yg@ wE = 2 2
What is th;: main function of State Finance Commission ?
_AD,  gE ®1 AiuwR ReE SeR Stert e % R e @ 2

How 1s the Right to Information beneficial for accountable
democracy ?

\/VK Sl W =raeen ¥ 379 797 Gusd B 7
What do you understand by dual governance system ?

12, @91 % &fas faaww & 0 s & 2

Whalt is meant by horizontal distribution of power ?
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e I W / Long Answer Type Questions
7T R 13 0F 14 A IhT §1 g @ fodt vw @7 I 3 TEF T F

ferg 4 3% Fruifia & 1x4=4
Question Nos. 13 and 14 are Long Answer Type. Answer any one of them.
Each question carries 4 marks. 1x4=4

13.  TR-fm ¥ wg@ 3 @ aolq @)
Explain the main organs of Municipal Corporation.
14, S W ety a1 B SE-d el # 2 fEsr F

What are the challenges of democracy in current Indian politics ?

Discuss.
_ HYIEA / Economics
g ITNT WS / Short Answer Type Questions
wy7 454 159 Isaa?agawﬁaa‘tg##ﬁﬁﬁzwﬁ%me“:mm
& forw 2 & FraffRa &1 2x2=4

Question Nos. 15 to 18 are Short Answer Type. Answer any 2 questions.

Each question carries 2 marks. https://www.bsebstudy.com 2x2=4
15, ure fyem gEws 4 w1 e 2 2
What is meant by Human Development Index ?
16,  nfde i w=n A 2 2
What is economic activity ?
17. favg SIOR @S (WTO) % e 1 3e¥d F1 1 2

What was the purpose of the formation of World Trade

Organization ?
18, eIgh TUET ¥ 379 T THEd § ?

What do you understand by double counting ?
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E Ulll

R Il W / Long Answer Type Questions

W¥T 9= 19 vy 203 gty &1 gd @ frdt e @7 I &1 9AF T &
f%’?43fﬁ‘i'ﬁ!ﬂ(ﬁa‘§'f I1x4=g4

Question Nos. 19 and 20 are Long Answer Type. Answer any one of them,
Each question carries 4 marks. Ix4=4

19. 3 % e e & s weae ) it 1 R

Discuss the role of infrastructure in the economic development of
the country,

20. mﬁmmw@mmmwﬁmmwmﬁrﬁl

Describe the judicial system set up by the government for
consumer protection.

YTeT / Geography
WY IAT WIT / Short Answer Type Questions

0y WEAT 21 ® 26 7% 7Y G 1 3 @ Rt 3 wvAt & gv &1 gew gy
& 1T 2 o Fraifeer 1 3x2=6
Question Nos. 21 to 26 are Short Answer Type. Answer any 3 questions.

Each question carries 2 marks. | 3x2=6
21, O SRV TS VEA E T N § 2
What is the need for water conse‘rvation and managcment.?
22.  T9v FHY A T IgEO wfew ghonia w)
Define plantation Lagriculturc with an e::cample.
23. TS SV &G HiE Q YW FAR5

Mention any two measures for soil conservation.
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| S
e

T Pl 3w v @ -

What is meant by resource planning ?

FTRE i ¥ s o T

I
wn

What do you mean by organic minerals ?

26.  TEEA 99 W w1 IRmR R 2
What is meant by density of populatioﬁ ?

e I W / Long Answer Type Questions

7Y WEAT 27 U4 28 A IAT 1 g0 # Fed v #7 I F1 0AF WA F
e 4 o i 1 1x4=4

Question Nos. 27 and 28 are Long Answer Type. Answer any one of them.
Each question carries 4 marks.

27. YRd & WY@ P Jemrn &l samen |
Explain the major National waterways of India.

28. a1 % ygiawim wed W feuft fa)

1 x4=4

Write a note on the environmental importance of forests.
T9eT =g / Disaster Management
g 390 W99 / Short Answer Type Questions

Uy GE 29 W 32 7% o9 30T &1 FAR | fERl 2909 & IR ) Hedw 4
& forw 2 % Freifia 21 2x2=4

Question Nos. 29 to 32 are Short Answer Type. Answer any 2 questions.

Each question carries 2 marks. 2%x92=4
g ETE % YT H HA A H I G|

Suggest measures to reduce the incidence of flood.
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[111)
/ﬁ@%ﬁmw@mm%?

What are the factors responsible for drought ?
31. Il UG & W AU A A Tl wET Hiea w1 E 2

“What are the alternative communication mediums used during
natural disaster ?

32. YU Ud gATf F wwre e & w s ean 2 0

Which areas are more affected by earthquake and tsunami ?

‘:"‘—‘
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